E IR

. (a) SHEE (Zia, +,0) BIPTE FHF;

(b) 5 1112 (mod 71) ($&7~: FIH Fermat /)N g #);

(c) UEW Zyg "PIFRIE TS TC O T HIBHY SAGIARE (FLm: V5L 2 1OF).
(R, 4,0, 1) N—ANI, we R EfifEve REF uw =1, BAT v HHY. Huf
AT, AEWI BT dir A

(a) u A& R F AT e;

(b) uHEZ T4

(c) u ALEEHT.

(R, +,0,,1) N—AH, a,be RAEW:

(a) HAFIEn € NfifF am =1, W 1 — o ATI;

(b) (&) # 1 — ab AT, W 1 — ba 7.

CEH: EHARA TR AR

WA= GMg(Zg).

DI DN
== NI
NI N O

() REHEITRAL Az = 0 M2
(b) R A BSR4 R A
- BERIEBSY ¢ - 73 — Z2 1

¢(e1) = €1 — 262, p(ex) = €1+ 3ea, P(e3) =02
W, JErl o1, ez, 00 i 28 IOBRIERE, 1, e J2 22 HOHIERE.

(a) G ¢ 1E e1, €2, €55 €1, €0 FHIFERE.
(b) T dim(ker(¢)) FIZEECRT im () [—2H .



